5C7b - Divide numbers up to 4 digits by a one-digit number using the formal written method of short division and interpret

remainders appropriately for the context

12 2 6 8

Work out the answer.

714 5 2

What is the remainder?

4 7 6

Work out the answer.

618 1

What is the remainder?

A primary school has 189 pupils. For the end of year party
they will need a jug of squash for every 6 pupils.
How many jugs will be needed?

Alesha and her friends have a large bag of 120 sweets.
They share them equally between the 7 of them.
How many are left over?




